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Comme on a à la fois 𝑧 et 𝑧̅ on doit poser : 

𝑧 = 𝑎 + 𝑖𝑏 

𝑧̅ = 𝑎 − 𝑖𝑏 

8𝑖 + 10(𝑎 + 𝑖𝑏) − 10 − 6(𝑎 − 𝑖𝑏) = 0 + 0𝑖 

8𝑖 + 𝟏𝟎𝒂 + 𝑖10𝑏 − 𝟏𝟎 − 𝟔𝒂 + 𝑖6𝑏 = 0 + 0𝑖 

On regroupe partie réelle et partie imaginaire : 

𝟏𝟎𝒂 − 𝟔𝒂 − 𝟏𝟎 + 8𝑖 +  𝑖10𝑏 + 𝑖6𝑏 = 0 + 0𝑖 

𝟒𝒂 − 𝟏𝟎 + 𝑖(8 +  10𝑏 + 6𝑏) = 0 + 0𝑖 

𝟒𝒂 − 𝟏𝟎 + 𝑖(8 +  16𝑏) = 0 + 0𝑖 

{
𝟒𝒂 − 𝟏𝟎 = 𝟎
8 + 16𝑏 = 0

 

{
𝟒𝒂 = 𝟏𝟎

16𝑏 = −8
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D'où : 
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